Practice Unit Assessment (3) for N5 Expressions and Formulae:
   Marking Scheme

Points of reasoning are marked # in the table.

	Question
	Main points of expected responses



	1 
	(1
start of process

(2
simplified surd
	(1
√16√2[image: image2.wmf]

 (or equivalent)

(2       4√2

	2 (a) (i)

         (ii)

  (b)
	(1
simplify numerator

(2
correct answer

(3
correct coefficient

(4
simplify indices 

(5
calculation of amount

(6
express in standard form
	(1
x10
(2
x7
(3
20

(4
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(5
27 × 3·12 × 104

= QUOTE 
 84·24 × 104 

(6
£8·424 × 105  QUOTE 
 

	3 (a)

   (b)
	(1
multiply out brackets

(2
multiply out the brackets

(3
collect like terms
	(1
 QUOTE 
 4d2 – de

(2
g2 + 4g + 9g + 36

(3
g2 + 13g + 36 QUOTE 
 

	4 (a)

   (b)

   (c)
	(1
factorise expression

(2
factorise difference of two 

         squares

(3
start to factorise trinomial 

          expression

(4
complete factorisation 
	(1
y(y – 6)

(2
(t + 7)(t – 57) QUOTE 
 
(3
(x    3)(x   4) ie evidence of         
          brackets, x, 3 and 4

(4
(x + 3)(x + 4) 

 QUOTE 
 

	5
	(1
start of process

(2
complete process
	(1
(x + 3)2
(2
 QUOTE 
 (x + 3)2 – 2



	6
	(1
reduce to simplest form
	(1
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	7 (a)

   (b)
	(1
denominator correct

(2
numerator correct

(3
multiply by inversion of 

         fraction
(4
correct answer
	(1
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	8
	(1
evidence of gradient 

          calculation


(2 
correct gradient 
	(1
Uses
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 or equivalent

(2
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	9
	(1
substitute and start 

         calculation


(2
complete calculation

(3
round calculation to 2 

         significant figures
	(1
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  or 

           equivalent

(2
50·939 cm³ or equivalent


(3
51 cm3

	10   (a)

       (b)
	(1
correct ratio and substitution 

(2
calculate arc length

#2.1
  valid strategy

#2.2 
  interpretation of answer 
	(1
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(2
25·957 cm or equivalent

 QUOTE 
 
#2.1
eg 2 000 ÷ 38 

#2.2
 (for 52∙63) 52 logos can 

           be made.



	11
	#2.1     uses valid strategy to find 

            volumes of cone and    

            cylinder

(1
calculate volume of cylinder

(2
calculate volume of cone

# 2.2
states conclusion
	# 2.1 Substitutes relevant values 

         into correct formulae

(1
10 048 cm3 or equivalent

(2 
39∙25 cm3  or equivalent


# 2.2
  Shop owner is wrong 

            because only 256 cones 

           can be filled
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